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(1) (7) To the park. (4) Last month.
(9) Every weekend. (L) Her father did.
............................................................................................................... EnEE [15)
(2) (7) Curry and spaghetti. (A4) Spaghetti and some tomatoes.
(7) Some tomatoes and coffee. (T) Curry and coffee.
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(2) (7) BREICB%RABHO, MOF—LTEHUILD- P56,
(€4) BUIREENBY, £/, FEHOBRBHHLEL S ULMS,
() LIBTICEDE - TR =V EF > T 506,
(L) REBBULLIEDNHD, Tk, WEHARHDPIZE>THENS,
............................................................................................................... %‘:@ﬁ% {18]

b ZhThDE&FHDF v 1 LDEZAILABRRBELTROELLLDE, TO (F)~(I) ol 2T o8N, (45)

(figg) A: Hi, I'm Hana.
B: Hi, I'm Jane.
A Nice to meet you.
B: (Fe+MLE

(7) T'm Yamada Hana. (4) Nice to meet you, too.
(%) Hello, Jane. (T) Goodbye, everyone.
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(1) (7) 1 have just left home. I'll be there soon. (4) 1 have two. You can use one of them.

(1) Yes, it is. It was sunny yesterday. (T) 1Idon’t know when you leave here.
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(2) (7) That’s nice. I'll buy one of them. (4) 1don’t want to buy any books.
(7)  You should go to another bookstore. (X) Isee. You wrote good English.
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